Re\a‘k\/ii’\'l.ﬁ mOw\eV\‘k)W\ RS-\

_‘\MQC-JQ’ does cla Ee( ‘Lur‘ c\o 1o Y\qmic.s?

- \Mexo} ‘Q\as ifow be C‘Q\QM o \reshziwe
Cov\se'(‘\/q OWNn OQ Mo 1V\+UVV\ - a f&(a\/’
F\(\V\(\F{e OI:‘ }«&Y\C\,\M\CS

® E\&S\‘\C CQ“ '\S\OV\ OQ 'hoo tJve_V\—k\‘CCL\ Uzq\r'}\'c\eS
A and B |

 Raewme - A wmoyes a‘ov\ SL-ETANS Q(\Lecl "*o f
Beame -B 7 wwoves Q‘ow% ~x-axis ficed 1o B

Co\\ |$\OV\ QOW\\‘Q(e'L, S W\W\e’h‘\ cql
. 'Q:q(@x ‘:n‘c‘\\c ‘eqs &
J(AWNE S ecl 4.1 N As ¢

o WWN Q\FOLW\Q Q\O\Mg ‘W\e kk-qx'\s

~
SN————

e ——— e,
P ~<
- ~

| . CO\\\ﬁ\OV\ Q\*C\CS \\ Ve ‘0(('\'\65 .
lCCL\) "W 20 —w O‘Q iIODW\W ¢ Ov\'ﬁ*owd’

;'Re\q‘\"\\) K-Ne o(\'kt{( of e ‘qumes SV
t“o i

V.__J)B ‘V__?u'/v
A v u'/'/:

Before After



| RS-,
—‘Q\e [quo 01: 4V¢V\5-Coxr~moc\ (0N 0? \)e\'ocv\ncs
| “%J\Ues +Re \&~ve|oc‘Jt18 ol {Re ora(::osr‘e

aN" \f’
__V__— = [ - f
X <2

"A‘;'\'-c\(‘ ‘W\e QD\\LSEO\A W\Q kk‘ \;e,oci‘(ﬁes a\xe
bo-{(\ \J‘QVe\rseel.

- RPssowe

'P = W\(w\ -\I?

wmw): <owmelhing Rt mayq de end oONn
av'\'ic\f L eecl ’»} f

P P

Jfaavne Ao

- \N\OW\eVL‘{’UW\ QV\JVY‘Q\L& AUQ +0 {C)aY+LC|€

%e-tove col\ \s(ow R's seeecl

‘ D* y \11-\' 7/\0

| N

fﬂue\( coll is(o V\l

wlj\ - \JD\+ u'
L

\M\t{-\‘\w& cowg,e\rvco@ (OW OQ \movv\evq(ovv\ q/(ov\ca-—l

v w) V = W\,(m') Y

LW T W



RS -2,

A\Un‘\xe CoOnsex UGCQ.\O\/\ O‘G YhOW\eV\.(UW\ "

.{’:chvxe -Q a\ov\l %

o) Up + W) Yo = M@QUo) Uy — W) U
| ¥ X
\(Y\(UO\ = W\(uu)

Le\' ‘N\(Vo) = M, as U —> O.
B\ (P nest massS . Mass W\easovecj [N
feame wheve it s 5{*c\+iowcwj.
In s hwmit w= V.

mV) = X My =

™Mo
; e
e CCLV\ lfbe ‘l‘(\‘\e\(r\re‘\eé as ‘W\P QlePenJmp o@

N\ OWN %(oee

M'IV\ C&ex\e\l‘fj :
_ —> -
T 7 Yo - wmw = \(Y\no—d}
g
S\ M/C‘;’\
W\ = o = ¥W,

\ - w2



Relativistic Ewe\r\qs\gﬁ

cGewevalize classical concept

- .,
g P\K'QSQ\I Ve " Consex \/Ck*‘-\OV\ OC E heva\‘
.f‘C\stica( A

‘ ‘('OG.CQ\
‘ we delined: FP b

k\(; Kc&: f J_E . QT'?
a dt
.?owsic(c\( & ‘3

-]? = ™ —'\E ™M = CoWﬁjfoch\ Reve
Ky - K&:J ._J_(W\TZ) Jr?
o Jdt
- ‘D
2 oW I Wt
d+
b
- ww\-@.cﬁ‘f
lse o s 1AW = 1dGR) = udu
A A

axticle w\ou'\v\} with \;e(oc'&&—:’

RS- 4

A



Re(a“'\v(l‘q B RS-5
3

I~ *1 aC %'\W\'\\ a.\(—bckr‘o\f Oa ¢ 9\

-
'\3—\6‘(;\0\/&
k- = | 49 4%
"Rt L R

b
= Wl \ _ g Moldu
e o -

we usecl ?QHZ = uclu [sce ea\-\(e(]

Toule «‘q( S e\emev&q\{‘i’

2\ b 2 b
K\D - Kq = WMol \ + W< i\ - i \
W o St Y



5 1S aw CL‘(‘\D'\'\'VCLV Fo\\/\‘k‘
Assowe ot ‘ofo\vxjc %\l U, =©

. N g
K: XW\O‘V\ + V_V}_O_Q "'W\DQ’)S

X 2
=\6W\O Eug\—\— QQ (l- w‘l/c_g\>] -Mm.C

2 PN
= \6 MOQ - mOQ

4N
K = W\QD\ - WM< wheve Wm=Xwo,

| \Mexa‘\’ Q\q\(svoens weev\ A << C

j\
¥ ~~ (-\—_’_‘&Cl-\—"' :
A
2 a
-W\oQ

[(C=__WoC
-2
I
2w e L -
-NFEN

kK = .:!imoul [¢lassical QPSOH’.I



‘ RS -1
kE “630\¥5 ‘?\I‘O‘N\ LOO\(‘\( AO '
to lm‘\v\% of Ko vesT _!_o SVQ"Z 401\;\. rﬂ\ﬁ cle

Rew\r'\l(e; -' q
wmed = W4 W C

2
~ \MO‘(‘\( :DOV\Q + My
E‘\\j\sse‘\vx "

W\Cg\ = To‘{'a( Ev\ev‘%*& ‘ E I 0'(; )aq\r‘t\c\e

= Bidevwal Work + “Rest” Ev\e\rc&
DA 2 1
BT wmC = ¥m <

IC awn enev AE s added do a
o!n%‘c("‘" s al:LSS CQ;MBQ\( ‘03 "

dve s AE
C‘;‘



Enevqy / Mowevitom
| \

.C\QSSLCCL\\XD 2 2
E= Llwy = P wn=0
—'[?: mu = W‘lo—'\?_ — XYV\O:{L
\‘g"“i/e\
E = we = XW\OQQ
A2 2 2 2
PD\: \6 mou = \ mou
- e
A Y
&= P
<a PQW- W\:\C
X = \:\*ﬁ - | + El -
@~ /A Mg e
2

EQ- KPC)Q = @\OQQ)Z 4'Vec\’0\(‘

Dy van® QU QM"}* J



RS -9

pc

myc?
FIGURE 3-3. A mnemonic device, using a right

triangle and the Pythagorean relation, to help in

remembering the relations between total energy

E, rest energy mqc?, and momentum p; see Eq.

3-13b. Shown also is the relation £ = mgc? +
K between total energy, rest energy, and kinetic

energy. You can show that sin 8 = 8 and sin ¢

= 1/y.
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